

17, 2

$$\tan\left(-\frac{\pi}{2} + \frac{\pi}{\epsilon}\right) \Rightarrow -\tan\left(\frac{\pi}{2} - \frac{\pi}{\epsilon}\right) \Rightarrow$$

هنا ابوطالب

في نقطة $\Rightarrow n=0 \Rightarrow \tan\left(-\frac{\pi}{\epsilon}\right) = -1$

$$A C = E \frac{\pi}{r} = \gamma$$

$$\frac{\frac{\pi}{r} \times | -1 |}{r} = \frac{\pi}{\epsilon}$$

$$\frac{\epsilon}{a} - \frac{r}{r} \sin \alpha - \frac{1}{\epsilon} \cos^2 \alpha = 0$$

$$\frac{\epsilon}{a} - \frac{r}{r} \sin \alpha - \frac{1}{\epsilon} (1 - \sin^2 \alpha) = 0$$

$$\frac{\epsilon}{a} - \frac{r}{r} \sin \alpha - \frac{1}{\epsilon} + \frac{1}{\epsilon} \sin^2 \alpha \xrightarrow{\text{مضروب}} \frac{1}{\epsilon} \sin^2 \alpha - \frac{r}{r} \sin \alpha + \frac{\epsilon}{a} = 0$$

$$4 \sin^2 \alpha - 2 \epsilon \sin \alpha + \epsilon = 0$$

$$\sin^2 \alpha - \epsilon \sin \alpha + \frac{\epsilon}{4} = 0$$

$$(\sin \alpha - \frac{\epsilon}{2}) (\sin \alpha - \frac{\epsilon}{2}) = 0$$

$$\frac{\epsilon}{4} = 0 \Rightarrow \frac{r}{a} \rightarrow 0 \Rightarrow$$

$$\sin \alpha = \frac{\epsilon}{2}$$

$$\sin^2 \alpha = \frac{1}{4}$$

$$1 - \sin^2 \alpha = \cos^2 \alpha = \frac{1}{4}$$

$$\Rightarrow \frac{1}{\cos^2 \alpha} = \tan^2 \alpha \Rightarrow \frac{4}{1}$$

$$\log \frac{\sin \alpha}{\cos \alpha} = \log r \Rightarrow$$

$$\frac{\sin \alpha}{\cos \alpha} = r = \tan \alpha = r$$

$$-\cos \alpha > 0 \Rightarrow \cos \alpha < 0$$

$$\sin \alpha = \frac{r}{\sqrt{1}}$$

$$u^2 + \frac{r}{a} u = 1 \Rightarrow (u + \frac{r}{2a})^2 = 1 + \frac{r^2}{4a^2} \Rightarrow u = \frac{1}{\sqrt{1}}$$

$$\cos \alpha = -\frac{1}{\sqrt{1}}$$

$$\sin \alpha - \cos \alpha = \frac{r}{\sqrt{1}} + \frac{1}{\sqrt{1}} = \frac{\epsilon}{\sqrt{1}}$$

$$\sin^2 \theta - \sin^2 \theta + 1 = \frac{2}{a}$$

$$\frac{\sin^2 \theta (\sin^2 \theta - 1)}{-\cos^2 \theta \sin^2 \theta} = -\frac{1}{a}$$

۲

$$\cos^2 \theta + \cancel{\sin^2 \theta} - \cos^2 \theta$$

$$\frac{\cos^2 \theta (\cos^2 \theta - 1) + 1}{-\sin^2 \theta \cos^2 \theta} = -\frac{1}{a}$$

$$-\frac{1}{a} + 1 = \frac{2}{a}$$

$$\sin u (1 + \cos u)$$

(۵)

$$\frac{r (1 + \cos u)}{\sin u}$$

با توجه به اینکه مخرج هر دو برابر است، پس
مخرج هر دو برابر است، پس

$$= \sin u (1 + \cos u) \text{ هر دو برابر است}$$

۲

$$\frac{1}{\cos u} \left(\frac{\sin^2 u - 1}{\cos^2 u} \right) > 0$$

$$\Rightarrow \cos u < 0$$

نایب است

$$\frac{r}{\sin u} = -\frac{r}{\cos u} \Rightarrow$$

$$\frac{\cos u}{\sin u} = -\frac{1}{r}$$

$$\frac{\sin u}{\cos u} = -\frac{r}{1}$$

$$\Rightarrow -\frac{r}{1} + \frac{r}{1} = \frac{-1r}{1}$$

۲

$$\frac{\sqrt{1 + \sin^2 \epsilon_0} \cos \epsilon_0}{\sin \epsilon_0 + \sin \epsilon_0} \Rightarrow$$

$$\frac{\cos \epsilon_0}{\cos \epsilon_0}$$

$$\frac{\sqrt{1 + \cos \epsilon_0}}{r \cos^2 \epsilon_0 + \cos \epsilon_0 - 1}$$

$$\frac{\cos^2 \epsilon_0 + r \cos \epsilon_0 + 1}{(\cos \epsilon_0 + 1)^2} + \frac{\cos^2 \epsilon_0 - \cos \epsilon_0 - r}{(\cos \epsilon_0 - r)(\cos \epsilon_0 + 1)}$$

$$\frac{\sqrt{1 + \cos \epsilon_0}}{(\cos \epsilon_0 + 1)(r \cos \epsilon_0 - 1)} = \frac{r \cos \epsilon_0}{r \cos^2 \epsilon_0 + r \cos \epsilon_0 - r}$$

$$\frac{\sqrt{r \cos \epsilon_0}}{r \cos^2 \epsilon_0 + r \cos \epsilon_0 - r}$$

$$\frac{\sqrt{r} \cos \epsilon_0}{(r \cos^2 \epsilon_0 + r \cos \epsilon_0 - r)} = \frac{\sqrt{r}}{r \cos^2 \epsilon_0 + r \cos \epsilon_0 - r}$$

1,0 - ✓

$$\cos^2 \alpha + \sin^2 \alpha = 1$$

$$\sin \alpha + r \cos \alpha = 1$$

$$\sin \alpha = 1 - r \cos \alpha$$

$$(1 - r \cos \alpha)^2 + \cos^2 \alpha = 1 \Rightarrow$$

$$1 - 2r \cos \alpha + r^2 \cos^2 \alpha + \cos^2 \alpha = 1$$

$$-2r \cos \alpha + r^2 \cos^2 \alpha + \cos^2 \alpha = 0$$

$$-2r \cos \alpha + r^2 \cos^2 \alpha + \cos^2 \alpha = 0$$

$$\cos \alpha (r \cos \alpha - 1) = 0$$

$$r \cos \alpha - 1 = 0 \Rightarrow r \cos \alpha = 1$$

$$r = \frac{1}{\cos \alpha}$$

$$r \sin \beta \sin \gamma = 1 + \cos A - (\cos \frac{B+C}{2} - \cos \frac{B-C}{2})$$

$$r \sin \beta \sin \gamma = 1 + \cos \beta \cos \gamma + \sin \beta \sin \gamma = 1$$

$$1 = \cos \beta \cos \gamma + \sin \beta \sin \gamma$$

$$\cos(\beta - \gamma) = 1 \Rightarrow \beta - \gamma = 0$$

$$\beta - \gamma = 0 \Rightarrow \beta = \gamma$$

$$r^2 \times r = 1 \times 1 \Rightarrow r = 1$$

$$\sqrt{1 + \sin^2 \alpha} = \sqrt{1 + \cos^2 \alpha} \Rightarrow \sqrt{1 + \cos^2 \alpha} = \sqrt{1 + \cos^2 \alpha}$$

$$\sin \alpha + \sin \alpha = \sin(\alpha + \alpha) + \sin(\alpha - \alpha) =$$

$$\sin \alpha \cos \alpha + \sin \alpha \cos \alpha + \sin \alpha \cos \alpha - \sin \alpha \cos \alpha = 2 \sin \alpha \cos \alpha = 2 \sin \alpha \cos \alpha$$

$$\frac{2 \sin \alpha \cos \alpha}{2 \sin \alpha \cos \alpha} = 1$$

$$\left. \begin{aligned} 1 - r \sin^2 \delta &= c \cdot s i. \\ r c \cdot s i. - 1 &= c \cdot s r. \end{aligned} \right\} \text{فرضیات}$$

$$\frac{1 - \tan^2 r.}{1 + \tan^2 r.} = \frac{c \cdot s^2 r. - \sin^2 r.}{c \cdot s^2 r. + \sin^2 r.} = c \cdot s f. \quad \text{سوال ۸}$$

$\frac{c(r \times r.) = c \epsilon.}{\underbrace{c \cdot s^2 r. - \sin^2 r.}_{1}} = c \cdot s f.$

$$\underbrace{(\sin i.)}_{c \cdot s i.} \times c \cdot s r. \times c \cdot s f. =$$

$$\frac{1}{r} \sin r. \times c \cdot s r. \times c \cdot s f.$$

$$\frac{1}{r} \times \frac{1}{r} \sin \epsilon. \times c \cdot s \epsilon. =$$

$$\frac{1}{r} \times \frac{1}{r} \times \frac{1}{r} \sin 1. = \frac{\frac{1}{\lambda} \overset{c \cdot b 1.}{\sin 1.}}{\sin 1.} = \frac{1}{\lambda} \cot 1.$$